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                  Class : 10th                                           Paper for September exams                                Mob 90415-11611       
   SECTION – A {1-mark each}
1. ΔABC & Δ PQR are similar Δ’s such that 
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2. Find the value of x if 
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3. If 
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4. The mean of the following frequency distribution is 62.8 & the sum of all frequencies is 50. Compute the missing frequencies f1 & f2 :

	Class
	0-20
	20-40
	40-60
	60-80
	80-100
	100-120
	Total

	Frequency
	5
	F1
	10
	F2
	7
	8
	50


                                                                                            SECTION - B{2-mark each}
5. A mason has to fit a bathroom with square marble tiles of the largest possible size. The size of the bathroom is 10ft. by 8ft. Would be the size in inches of the tile required that has to cut & how many such tiles are required. [Ans :24inch 20 tiles ]
6. Radius of circular track is 63 m. Two cyclists S & J start together from the same position, at the same time & in the same direction with speeds 33 m/min  & 44 m/min . After how many minutes they meet again at the starting point
7. Solve for ‘p’ & ‘q’ 
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8. AB 
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 BC, DE 
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 AC, Prove that 
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9. acos3θ+3asin2θcosθ=m & asin3θ+3asinθcos2θ=n, Prove that 
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10. The mean of first n-odd natural numbers is 
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 then find n.

                                                                                           SECTION - C{3-mark each}
11. A rectangular field is 150m x 60m. Two cyclists A & R start together & can cycle at speed of 21m/min. & 28 m/min, respectively. They cycle along the rectangular track, around the field from the same point & at the same movement. After how many minutes will they meet again at the starting point?
12. If α, β are the zeros of the quadratic polynomial
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13. A guest house in delhi charges 1½ times more for a double bed room & a single bed room for two days & has to pay 
 1150 as rent in all. Find the charges per day for a double & a single bed room. {230, 345}

14. After travelling a distance of 30 km/hr with a uniform speed there is some defect in a train engine & speed reduced to  4/5 of the original speed. Consequently, the train reaches its destination late by 45 min. Had it happened after covering 18km more, the train would have reached 9 min. earlier. Find the speed of  train & distance.
15. PA, QB & RC are each 
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 to AC. Prove that 
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16. BL & CM are the medians of Δ  ABC rt. Angled at A. Prove that 
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17. If 
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18. Prove that 
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19. If x1, x2, x3,…..,xn are n values of a variable x such that 
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 find the value of 
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20. The mean of the following frequency distribution is 57.6 & the number of the observations is 50. Find the missing frequencies

{use step deviation method}

	Class 
	0-20
	20-40
	40-60
	60-80
	80-100
	100-120

	Frequency
	7
	x
	12
	p
	8
	5


                                                                                       SECTION - D{4-mark each}
21. Show that every positive odd integer is of the form 4q+1 or 4q+3 for some integer q.

22. α & β are the zeros of the quadratic polynomial 
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Find the value of (i) 
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23. Solve :               bx+cy=a+b.           
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24. If the squared difference of the zeros of the quadratic polynomial 
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 is equal to 144. Find the value of P.

25. P &Q respectively are mid-points of the sides CA & CB of a right triangle ABC, right angled at C. Prove that (i) 
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 (iii)  
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26. PS is the median of Δ PQR, O is any point on PS. QO & RO when produced meet PR & PQ at M & N respectively. PS is produced to T such that OS=ST. Prove that PO : PT = PN : PQ & hence prove that NM || QR.
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27. 
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28. If 
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29. Drish is a student of class X. He used to enjoy pizza almost every day of the month but when his biology teacher explained the relevance of eating healthy foods, he started having ‘k’ pzzas every month where ‘k’ is the part of the following trigonometric function
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(i) How many pizzas Drish eats per month now? 

(ii) What value expressed by Drish?
30. Draw ‘less than ogive’ & ‘more than ogive’ the following distribution & find its median 

	Class
	20-30
	30-40
	40-50
	50-60
	60-70
	70-80
	80-90

	Frequency
	8
	12
	24
	6
	10
	15
	25


31. The mean of n observations is 
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. If the 1st observation is increased by 1, the second by 2, the 3rd by 3 & so on, then find the new mean.
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